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Please answer the following questions in English. For Chinese examples, you can use
Chinese when citing the examples. But the analysis and generalization must be stated in
English.

Q1. The experiential aspect marker guo has been a popular issue in Chinese linguistics. Examine the data
below and answer the questions. (20%)
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(1). Based on the seven examples above, what kind of predicates is compatible with the experiential guo
and what kind is not? Use your generalization to explain why (a-d) are grammatical while (e-g) are
not. (10%)
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(2). Examine (h-k). Do these examples affect your generalization above? If yes, in what way? How will

you revise your generalization to accommodate these examples? If not, how will you explain these
examples with your previous generalization? (10%)

Q2. The X-bar theory is a well-accepted notation in modern syntactic theories. Use the examples below
to explain why an intermediate level is required between the maxima projection level and the
lexical level. (20%)

(a) Susan likes astudent of linguistics. (a') *Helen likes one (= a student) of chemistry.
(b) Susan likes astudent in bluejeans. (b’) Helen likes one (= a student) in T-shirt.

(c) Susan likes astudent of linguisticsin blue jeans.

(c') Helen likes one (= a student of linguistics) in T-shirt.

(c’) *Helen likes one (= astudent) of chemistry in T-shirt.

Q3. Explain why (@) is grammatical while (b) is not. Define whatever notions you use in your explanation.
(20%)
() [The soldiers]; disgraced themselves.
(m) *[The soldiers’] i behavior disgraced themselves.

Q4. Answer each question by referring to the slightly modified data of Western Geenlandic Eskimo nouns,
as indicated below. (20%)

singular plural gloss
1 san:at san:atit ‘tool’
2 pana panat ‘knife
3 tut:u tut:ut ‘reindeer’
4 up:ik up:init ‘owl’
5 uluk ulunit ‘cover’
6 un:ik un:iit ‘night’
7 juk juit “human being’

(2). Give alexicon showing the underlying representations of each of the base morphemesin this data.
(10%)
(2). Three rules are needed to derive the phonetic representations. Give aNAME, PROSE STATEMENT,

and FORMAL STATEMENT for each rule. Make the rules as SIMPLE and GENERAL as the data
will alow. (10%)

Q5. Look at the following items containing the element shoe and decide in each case whether the
compound is based on a type-of relationship (with a dominant second element) or a part-whole
relationship (with a dominant first e ement). (20%)

ballet shoe shoe hammer shoe-shop
canvas shoe shoe heel shoe-tip
patent-leather shoe shoe leather shoemaker
peep-toe shoe shoe-boy

walking shoe

Do any of the type-of compounds suggest that—as with raincoat—the dominance of the second
element is overridden in conceptualization?



